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Given m.5 = 82°, find the measure of each missing angle.

a msl= e, ms6= i mz10 =
1)7 ofs 3]0 b ms2= foms7= 3o mo11=
4[10 5[11 6[12 & m3= 9. m8= ke ms12 =
d. msd= b ms9=

Given mZ12 = 121° and m£6 = 75°, find the measure of each missing angle.

a. msl= e ms5= i omz10 =
b ms2= f.oms7= §oms11 =
€ ms3= g. m/8= ke mz13 =
d. mz4= h. mz9= I ms14 =

Given m/7 =38° and m210 = 102°, find the measure of each missing angle.

a msl= . ms6= K m/13=
b, ms2= 9. ms8= L ms14=
c ms3= h. ms9= m. m/15 =
d. mz4= omz11 = n ms16 =
e ms5= jomz12=
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Directions: If /11 m, find the value of each missing variable(s).
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